E 3

EB

BF

5 70ER LT R EAE

REANR 1.2.3.3{1

REr—F AR

|~ [

o

D2

S—mile B

c2

= [
o [ —

B2

BLELT=R5IC

AZOvy 1] 2| 3 | = e
1| ABENOST A R |02 -3
S—mile C R [o0r2 —3-
DT DIEINEIE
B AvY 45| 6| 7 = = |Ex
HLo>7 A R|R|R|os| |4
BRI T B 111 |13 3
BLELT=R957C| B |2 1 |2/3 2
W DUENEEE
c7avy 8| 9| 10|11 (B = B
HLv>7 B R|R|R o3| |4
©) Q|33 1
1o ARIYST B |R|R R o3| |4
1 S—mile A RIR|R 0/3 —4-
DJAvy 12 13| 14 | = |IEk
2|2 1
13| FHWLY3T C
14 S—mile B

&

& RRSST

A2

BILTZFT

BUE+TT=25578



zF

58 7 OB 3R LU & A5 H (K Bk

REXMR 1,201

SH6ETATH(H)
U EULE
T=—AX—k

REN—F AR

F2

EJOvY 15[ 16 | 17 (B -3

15 ®o>57 R|R |02l |3

16 MEZE B R R o2l |3

B OO 2/2 1
FoOwvs 18| 19| 20 [B%3d = |IEf:

18 MEZE A R|R |02l |3
&% ©) @ |22 1
20 S—mile R|IR 0/2 -3

E2

F

i



